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D-3258
B. A. (Part IIT) EXAMINATION, 2020
PSYCHOLOGY
Paper First

Time : Three Hours ]

(Psychological Statistics)
[ Maximum Marks : 50
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A B | T Rl @ 3 I © |
Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.
TPIR—1
(UNIT—1)
Tl & a0 BT THREy | ST’ &R Aaq @)1 &1 o
RIFTY |

Explain the nature of scores. Describe the ‘Categorical’ and
‘Continuous’ variables.

arerar
(Or)
USd & “AMgHT foRor oY R HIA © 7
@ frfRed e & ford gy faeRor wga BifoR
33,49, 35,37, 49, 41, 28, 52, 42, 22, 33, 47, 36, 59, 42,
35,29, 60, 55, 57, 45, 53, 56, 47, 31, 20. (N = 26)
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(a) What do you mean by the ‘frequency distribution’ of a
data ?
(b) Present the frequency distribution for the following
data :
33,49, 35,37,49,41, 28, 52, 42, 22, 33,47, 36,59, 42,
35,29, 60, 55, 57, 45, 53, 56, 47, 31, 20. (N =26)
smlé—z
(UNIT—2)
Hal UgRT @ AU W AT FT G © 2 W (Mean)
o1, faeryerel iR el &1 avi Hifor |

What do you mean by measures of central tendency ?
Describe the properties, characteristics and limitations of

‘Mean’.
1ot
(Or)
frfoRed ued &1 “Feaid’ (Median) S0 PIH
T ST agf
40—44 2
35—39 2
30—34 4
2529 5
20—24 10
15—19 15
10—14 7
59 5
N =50
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Calculate the ‘Median’ for the following data : 5 28 18
Class Interval Frequency 6 27 16
40—44 2 7 25 15
35—39 2 8 24 14
30—34 4 9 14 30
2529 5 10 24 19
20—24 10 Calculate the coefficient of correlation for the following data
15—19 15 by rank order difference :
10—14 7 SI. No. X Y
5—9 5 1 30 17
N=50 2 26 15
3 3 14 25
(UNIT—3) 4 19 29
3. ‘fdwddr (Skewness) T ‘Gaadl’ (Kurtosis) T @HY Bl > 28 18
e HIRTT | 6 27 16
Explain the nature of ‘Skewness’ and ‘Kurtosis’. 7 25 15
3orar 8 24 14
(Or) 9 14 30
e ged & foR ool R ARy & wewwrg s 10 24 19
1T PR - THIE—4
B &l X Y (UNIT—4)
1 30 17 4. ‘xﬂj"zlﬁ'cﬁ HiRAP (Inferential Statistics) I T FT FTH
2 26 15 g ? UBR-1 FC (Type-l error) T YBR-II I (Type-II
3 14 25 error) ® THEEY |
4 19 29 What is ‘Inferential Statistics’ ? Explain Type-I and Type-II

crror.
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(Or)

-G (t-test) §RT FHToIRad a1 W8I & FeddHI (Means)

P R @I Wdhdl 05 Td 01 fAvedHId WR WS

DIV :

e X e Y
1 1
2 2
2 4
3 5
3 5
4 5
4 6
5 6
5 7
6

N=10 N =09

Calculate the significance of

difference of means between

the two following groups at .05 and .01 confidence levels :

Group X Group Y
1 1
2 2
2 4
3 5
3 5
4 5
4 6
5 6
5 7
6
N=10 N=09
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(UNIT—S5)

5. faaRor o ikt (Distribution Free Statistics) T g7
3@ Bl S el &1 U B |

What is ‘Distribution Free Statistics’ ? Describe its any two

tests.
e
(Or)
qH TG SUGEAT & IMER R fHfRad & oy ‘@re-
T (Chi-square) @I TOFT DIV 3R <y {6 sffws @

HE-a7 el (2 value) 01 TR W ARG g 3@l T2l

Jo

23

18

24

17

18

w@bép%b/:%

N=100

Based on the equal probability hypothesis, calculate the

‘Chi-square value’ (2) for the following data and show
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whether the value of ‘Chi-square’ is significant at .01 level
or not :

Group fo

A 23
B 18
C 24
D 17
E 18

N =100
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